

51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

#### ADJUSTMENT ON REPAIR COST FOR VEHICLE NO SNB 7856A

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
1	FRONT BUMPER	DEFORMED	\$899.00	\$899.00
1	FRONT BUMPER TOWING COVER	NOT NECESSARY	\$45.00	\$0.00
1	FRONT BUMPER FOGLAMP RH	NOT NECESSARY	\$312.00	\$0.00
1	FRONT BUMPER FOGLAMP COVER GARNISH RH	сит	\$211.00	\$211.00
1	FRONT BUMPER FOGLAMP COVER CHROME RH	NOT NECESSARY	\$159.00	\$0.00
1	FRONT BUMPER LOWER GRILLE	DEFORMED	\$191.85	\$191.85
6	FRONT BUMPER SENSOR @\$349.00	DAMAGED (1PC ONLY)	\$2,094.00	\$349.00
6	FRONT BUMPER SENSOR HOLDER @\$47.00	NECESSARY	\$282.00	\$150.00
1	FRONT BUMPER SENSOR WIRE HARNESS	NOT NECESSARY	\$489.00	\$0.00
1	FRONT BUMPER NUMBER PLATE GARNISH	DEFORMED	\$105.00	\$105.00
2	FRONT BUMPER TOP BEAM @\$426.00	CRACKED	\$852.00	\$426.00
2	FRONT BUMPER AIR DUCT (SIDE) @\$162.00	O/S DEFORMED	\$324.00	\$162.00
2	FRONT BUMPER CORNER BRACKET @\$74.00	NOT NECESSARY	\$148.00	\$0.00
1	FRONT BUMPER REINFORCEMENT	NOT NECESSARY	\$498.00	\$0.00
1	FRONT BUMPER REINFORCEMENT SPONGE	CRACKED	\$216.00	\$216.00
1	FRONT BUMPER LOWER BEAM	NOT NECESSARY	\$195.00	\$0.00
2	FRONT BUMPER LOWER BEAM ABSORB BRACKET @\$163.00	NOT NECESSARY	\$326.00	\$0.00
2	FRONT BUMPER SIDE RETAINER @\$69.00	NOT NECESSARY	\$138.00	\$0.00
1	FRONT BUMPER ENGINE UNDER COVER	NOT NECESSARY	\$441.00	\$0.00
2	FRONT FENDER COWLING @\$187.00	NOT NECESSARY	\$374.00	\$0.00
2	FRONT GRILLE C/W CHROME @\$221.00	O/S CRACKED	\$442.00	\$221.00
2	HEADLAMP (HID) @\$2897.00	O/S CRACKED	\$5,794.00	\$2,897.00
1	FRONT AIR DUCT (CENTER)	CRACKED	\$442.00	\$442.00
1	WASHER TANK	NOT NECESSARY	\$280.00	\$0.00
1	REAR BUMPER	DEFORMED	\$1,372.00	\$1,372.00
4	REAR BUMPER SENSOR @\$341.00	DAMAGED (2PCS ONLY)	\$1,364.00	\$682.00
4	REAR BUMPER SENSOR HOLDER @\$46.00	NECESSARY	\$184.00	\$100.00
1	REAR BUMPER SENSOR WIRE HARNESS	NOT NECESSARY	\$422.00	\$0.00
1	REAR BUMPER TOWING COVER	NOT NECESSARY	\$40.00	\$0.00
1	REAR BUMPER TAILGATE DETECTOR	CRACKED	\$472.00	\$252.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

	REPLACEMENT OF PARTS			
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
2	REAR BUMPER SMART OPEN SENSOR GARNISH BRACKET @\$45.00	NOT NECESSARY	\$90.00	\$0.00
1	REAR BUMPER SMART OPEN SENSOR GARNISH	DEFORMED	\$164.00	\$164.00
2	REAR BUMPER SIDE BRACKET (PLASTIC) @\$177.00	N/S CRACKED	\$354.00	\$177.00
2	REAR BUMPER CENTER BRACKET (UPPER) @\$159.00	CRACKED	\$318.00	\$318.00
1	REAR BUMPER REINFORCEMENT	DENTED	\$513.00	\$513.00
2	REAR FENDER INNER COWLING @\$189.00	NOT NECESSARY	\$378.00	\$0.00
2	REAR FENDER INNER TRIM @\$487.00	NOT NECESSARY	\$974.00	\$0.00
2	TAIL LAMP @\$598.00	N/S CRACKED	\$1,196.00	\$598.00
1	TAILGATE	DENTED	\$1,266.00	\$1,266.00
1	TAILGATE LOGO	NECESSARY	\$75.00	\$75.00
1	TAILGATE EMBLEM '218I'	NECESSARY	\$114.00	\$114.00
2	TAILGATE LAMP @\$472.00	NOT NECESSARY	\$944.00	\$0.00
1	TAILGATE SMART OPEN SENSOR	DAMAGED	\$185.00	\$185.00
2	TAILGATE DAMPER (ELECTRIC) @\$334.00	NOT NECESSARY	\$668.00	\$0.00
2	TAILGATE HINGE @\$76.00	NOT NECESSARY	\$152.00	\$0.00
1	TAILGATE INNER LOCK	DAMAGED	\$343.00	\$343.00
1	TAILGATE INNER LOCK MOTOR	NOT NECESSARY	\$595.00	\$0.00
1	TAILGATE LOCK CATCH	NOT NECESSARY	\$55.00	\$0.00
1	TAILGATE WEATHERSTRIP	СИТ	\$188.00	\$188.00
1	TAILGATE INNER BOARD	CRACKED	\$298.00	\$298.00
1	TAILGATE WINDSCREEN MOULDING	NECESSARY	\$210.00	\$210.00
1	REAR END PANEL	DENTED	\$747.00	\$747.00
1	REAR END PANEL TOP GARNISH	DEFORMED	\$146.00	\$146.00
1	REAR FLOOR PANEL	NOT NECESSARY	\$1,069.00	\$0.00
1	REAR FLOOR PANEL INSULATOR	NOT NECESSARY	\$360.00	\$0.00
1	REAR FLOOR PANEL TOP BOARD	DEFORMED	\$714.00	\$714.00
1	REAR TOOLS COMPARTMENT	NOT NECESSARY	\$210.00	\$0.00
1	REAR TOOLS SPONGE	NOT NECESSARY	\$264.00	\$0.00
2	REAR SIDE SPONGE @\$112.00	NOT NECESSARY	\$224.00	\$0.00
1	CENTER EXHAUST PIPE INSULATOR	NOT NECESSARY	\$342.00	\$0.00
1	REAR EXHAUST PIPE WITH MUFFLER	BENT	\$1,741.00	\$1,741.00



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

REPLACEMENT OF PARTS				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
6	REAR EXHAUST MOUNTING @\$38.00	NOT NECESSARY	\$228.00	\$0.00
2	REAR EXHAUST PIPE MOUNTING BRACKET @\$114.00	DAMAGED	\$228.00	\$228.00
1	REAR EXHAUST MUFFLER INSULATOR (REAR)	CRUMPLED	\$112.00	\$112.00
1	REAR EXHAUST MUFFLER INSULATOR (CENTER)	CRUMPLED	\$133.00	\$133.00
1	REAR EXHAUST CHROME PIPE	BENT	\$149.00	\$149.00
1	REVERSE CAMERA C/W TAILGATE HOLDER	NOT NECESSARY	\$1,240.00	\$0.00
	LESS 5.00% DISCOUNT		(\$1,804.94)	(\$854.74)
			\$34,293.91	\$16,240.11

	Special Nett				
Qty	Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
1	FRONT NUMBER PLATE (SN)	BENT	\$50.00	\$50.00	
1	SET FRONT BUMPER CLIP (SN)	NECESSARY	\$120.00	\$30.00	
1	SET FRONT GRILLE CLIP (SN)	NECESSARY	\$50.00	\$20.00	
1	SET FRONT FENDER COWLING CLIP (SN)	NOT NECESSARY	\$80.00	\$0.00	
1	FRONT SUPPORT PANEL SEALANT (SN)	NOT NECESSARY	\$150.00	\$0.00	
1	REAR NUMBER PLATE (SN)	NOT NECESSARY	\$50.00	\$0.00	
1	SET REAR BUMPER CLIP (SN)	NECESSARY	\$80.00	\$30.00	
1	TAILGATE SEALANT (SN)	NOT NECESSARY	\$150.00	\$0.00	
1	SET TAILGATE INNER BOARD CLIP (SN)	NECESSARY	\$80.00	\$30.00	
1	TAILGATE WINDSCREEN SEALANT (SN)	NECESSARY	\$80.00	\$40.00	
1	TAILGATE WINDSCREEN INNER SHIELD (SN)	NECESSARY	\$60.00	\$30.00	
1	SET REAR FENDER INNER COWLING CLIP (SN)	NOT NECESSARY	\$60.00	\$0.00	
1	SET REAR FENDER INNER TRIM CLIP (SN)	NOT NECESSARY	\$60.00	\$0.00	
1	REAR END PANEL INSULATION SEAL (SN)	NECESSARY	\$150.00	\$60.00	
1	REAR FLOOR PANEL INSULATION SEAL (SN)	NOT NECESSARY	\$350.00	\$0.00	
		\$1,570.00	\$290.00		

Labour				
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)	
PANEL BEATING, REMOVING AND REPLACING PARTS (FRONT)		\$1,000.00	\$400.00	
SPRAY PAINTING TO AFFECTED AREA (FRONT)		\$1,000.00	\$200.00	



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

Labour			
Description of Parts	Condition	Workshop Estimate (\$)	Our Adjusted (\$)
REMOVE AND REFIX AIRCON CONDENSOR AND REFILL AIRCON GAS (FRONT)	NOT NECESSARY	\$120.00	\$0.00
REMOVE AND REFIX RADIATOR AND CONDUCT PRESSURE TEST (FRONT)	NOT NECESSARY	\$80.00	\$0.00
REFOCUS HEADLAMP BEAM (FRONT)	NOT NECESSARY	\$60.00	\$0.00
REMOVE AND REFIX FRONT BUMPER SENSOR (FRONT)		\$80.00	\$50.00
REMOVE AND REFIX AIR COOLER (FRONT)	NOT NECESSARY	\$150.00	\$0.00
TO CHECK DIAGNOSTICS OF VEHICLE MANAGEMENT / CONTROL UNITS, RESET MEMORIES TO SPECIFICATION ETC (FRONT)		\$680.00	\$200.00
TO PANEL BEAT, REMOVE AND REPLACE PARTS (REAR)		\$2,200.00	\$800.00
TO SPRAY PAINT AFFECTED AREA (REAR)		\$1,800.00	\$600.00
TUFF COAT (REAR)		\$250.00	\$80.00
WIRING AND BULB CHECK (REAR)		\$250.00	\$30.00
REMOVE AND REFIX CUSHION SEAT / UPHOLSTERY & ROOF LINING TO FACILIATE REPAIR (REAR)		\$350.00	\$80.00
REMOVE AND REFIX TAILGATE WINDSCREEN (REAR)		\$120.00	\$120.00
REMOVE AND REFIX REVERSE SENSOR AND DISTANCE SETTING (REAR)		\$150.00	\$50.00
REMOVE AND REFIX REVERSE CAMERA AND DISTANCE SETTING (REAR)		\$100.00	\$50.00
REMOVE AND REFIX VIDEO RECORDER (REAR)		\$100.00	\$50.00
RESET SMART OPENER (REAR)		\$350.00	\$80.00
TRANSFER TAILGATE MECHANISM (REAR)		\$80.00	\$80.00
CONDUCT WATER LEAKAGE TEST (REAR)	NOT NECESSARY	\$120.00	\$0.00
REMOVE AND REFIX REAR EXHAUST PIPE (REAR)		\$180.00	\$80.00
		\$9,220.00	\$2,950.00
GRAND TOTAL		\$45,083.91	\$19,480.11
RECOMMENDED COST OF LUMP SUM REPAIRS (TO ITS PRE-ACCIDENT CONDITION)			\$15,500.00
Report Ref No: CS/INC24070187/Aqh3			

TOTAL FOR SPARE PARTS: \$ 35,863.91 \$ 16,530.11
TOTAL FOR LABOUR: \$ 9,220.00 \$ 2,950.00
TOTAL REPAIR COST: \$ 45,083.91 \$ 19,480.11



51 Ubi Ave 1 #01-25 Paya Ubi Industrial Park, Singapore 408933 TEL: 6256 3561 FAX: 6256 4315 Reg. No: 199607198R GST Reg. No. 19-9607198-R

# **LWP**

ADRIAN LING WAI PING

DISCLAIMER OF LIABILITY TO THIRD PARTIES:- This Report is made solely for the use and benefit of the Client named on the front page of this Report.

No liability of reposibility whatsoever, in contact or tort, is accepted to any third party who may reply on the Report wholly or in part. Any third party acting or replying on this Report, in whole or in part, does so at his or her own risk.